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A number is increased by 10% and then the increased number is
decreased by 20%. The net increase or decrease is:

Tk HEATH 10% hY Aheg, ht AT & 3R TR 76 53 dear 7 20% 6
SHUT chl STl g1 el g AT AT Teha=1 82

a) 18% decrease
b) 2% decrease
¢) 12% decrease

d) 12% increase
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If cos 2A = sin 75°, then the smallest positive value of A is:
qATS cos 2A = sin 75° &, T A T IAqH U-TcHeh HI- AT 82

a) 15°

b) 7.5°

¢) 30°

d) 37.5°
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The frustum of a right circular cone has the radius of the base as 5

cm, radius of the top as 3 cm, and height as 6 cm. What is its

volume?
Teh & I vieh o (o=Teh H AT <hY Frsam 5 A, sfte sht e 3
R}
Tt TR 3T 6 THY B TEHT ST T 2? 2) 93 T cm
b) 100 TT cm’®
¢) 96 Tt cm?

d) 90 Tt cm’
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Find the total surface area of a closed hemisphere whose radius is 3.5

cm

Teh 9% ST 1 het UHIT SAHeT T ShiTordl [erereht Brear 3.5 9 81

a) 114.5 cm?
b) 113.5 cm?
¢) 115.5 cm?

d) 112.5 cm?
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A thief is noticed by a policeman from a distance of 650 m. The thief starts running
and the policeman chases him. The thief and the policeman run at the rate of 8 km

and 10.5 km per hour, respectively. The distance (in metres) between them after 12

minutes is:

Teh TR ol Teh YTeTareRH 650 Wit ht St & ST 81 T W o1TaT ¢ 3R GicTashut
IRT UTDBT AT gl AR R Gioraert swaor: § fohut 31X 10.5 foreft wfa e i 7ria & S
21 12 forre o g 377k oftar <t gt (e &) w32

a) 150

b) 85

¢) 125

d) 100
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The price of a cell phone is ¥20,000. On Sundays, the shopkeeper offers a cash discount
of ¥1,000 on the purchase of the cell phone. Further, if someone purchases it through a
credit card, he gives 5% additional discount. If someone is purchasing the cell phone

on a Sunday through a credit card, then how much does he/she have to pay?

Teh AAHI T 7o 20,000 TOH 21 AR T THHETR AA®R hl TRIT W 1,000 T0 h
ThS TE TS HIAT gl THeh ATANTH Al Thig 39 shise s ¥ GHEAT 2, A TT 5%

AT Te TS AT 2| TS hIg ATAR Rl ShiSe IS A UATH THIE TET § a1 3 fehar
AT AT I

a) ¥18,350
b) %18,900
¢) ¥18,050
d) %18,500
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The price of a tablet is first increased by 10%, and then decreased by 2.5% due

to reduction in sales. What is the net percentage change in the final price of the

tablet?
Teh ¢acie o Hed H Uget 10% hi g shl SATdT 2, 3T TR Torshl | g1 o shor
2.5% <hY HHT Y ATCAT g1 e o SHTAH T H THeT (A9 TR FT 8?2

a) Decrease by 8.75%
b) Increase by 7.25%
¢) Increase by 6.35%
d) Decrease by 5.5%
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What is the fourth proportional to 16, 24, 8?
16, 24, 8 ST AAATTUTAT T B2

a) 12
a) 8
b) 24

¢) 16
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The volume of a cone of radius 13 ¢cm is 507 TT cm’. Find its height.

13 BHT FI4T ATeT Teh 31 T SATA 507 T HHE ) 3HhT ST AT
shitoTul

a) 12 cm
b) 27 cm
¢) 18 cm

d)9 cm
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In the given figure, If ZRPS = 25°, the value of ZROS is
<t T STTR(C W, ATE LRPS = 25° &, A1 ZROS T A %l

a) 155°

b) 145°

¢) 135°

d) 165°
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Subir claimed to sell his items at only 5% above the cost of
production, but used a weight that had 1 kg written on it, though it
actually weighed 960 grams. What was the actual profit percentage

earned by Subir?

Gl ITUTET TN H ehalel 5% FHUL AT TETAT shi sIer T el
forar, TIfeRT Ueh I hT STATTA TR e WR 1 TehedT ot e,
FTCT(oh SHERT T ATEA W 960 TTH AT| Yl ZRT AT AR ITH

feTa T AT? 2) 9.125%
b) 9.375%

¢) 9.25%
d) 9.5%
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When f(x) = 15x° — 14x* — 4x + 10 is divided by (3x + 2), then the remainder
is:

I f(x) = 15x° — 14x2 — 4x + 10 &1 (3x + 2) T 9T FhaT ATAT 8,
A T EITT?

a) -1
b) 1
c) -2

d) 2
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The average present age of four members of a family is 27 years and
average increases by 3 years when one of their relatives joins them. The

age of the relative is:

TS URAR & IR GEEAT hl HTEd TAH A 27 99 § 3T TS IehT Teh
TeyeiaR 379 et 2 1 ofiHa 3 aW ag W7 2| Rydan <t o1y 2:

\3) 40 years

b) 42 years

¢) 46 years

d) 44 years
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983%*-17°=7?

2) 96600
b) 9662
¢) 96600000

d) 966000
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30 men can complete a piece of work in 24 days. 12 days after they
started working together, 10 more men joined them. How many days
will they now take to complete then remaining work?

30 T5Y9 Ueh T ohi 24 foT W 01 o Tevd B Tk AT ShTH REAT 316 A
% 12 T3 a18, 10 31X IEW 376k AT T[S MY Y HR hl O HEA H A7
3¢ foram fe e

a) 12 days
b) 8 days
¢) 10 days
d) 9 days
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The difference between a discount of 35% on ¥8,000 and two

successive discounts of 20% and 15% on the same amount is:
28,000 TX 35% T TeheT D€ I THTT I WX 20% AR 15% hT &
THURTA Bel oh STe T X T 82

a) ¥240
b) 320
¢) T540

d) 800
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What is the largest 6-digit number divisible by 52?
52 O farars 6 3tehl T T T HEAT T 22

2) 999984
b) 999999
¢) 999960

d) 100000
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